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Do the sums!

9 million visitors in a year =   ………..    a month (divide 9 million by 12)

9 million visitors in a year =   ………..    a day   (divide 9 million by 365)

	Destination
	Population
	Visitors per year
	Bed spaces
	Visitor beds per head of local population

	Lourdes
	17,000
	6,000,000
	34,000 *
	2.0

	Blackpool
	145,000
	10,000,000
	35,000 *
	.24

	New York
	8,200,000
	50,000,000
	90,000 **
	.01


* Bed spaces includes all accommodation types

** Hotel bed spaces only – excludes, hostels, guesthouses and other accommodation

Outline the significance of the information in the table.
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Which skills did you use to complete this activity? 
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Which Key Skills did you use to complete this activity? 





Delete the skills you didn’t use:
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